BREFRSREIRER

HE-TTHEEZAS+—HLFE

—EERF —ZETNF
it i FBT FET

REEBFCHERE
PR A5 Al 7 56,569 51,824

A

FLE WA 6 (245) (12)
JE 1k Bt & N A g B K 548 = (1,022)
B 75 B AR 8 201 28
b 8H 17 B B B B3 7 (342) (6,055)
e 7 4,970 5,095
HEMHEEEEZER 7 414 652
RIR 2 B i 7 389 258
2 IR ER 7 1 68
7 45 1 85 7 106 —
e E A RIEE 7 = 1,578
Rt BEEE A 2825 F 62,063 52,414
HE - KE R Hth 3R B IE & 15 AN (2,658) (591)
FE Ogm R (24,496) 24,525
JE W BR R T SR 4B 4 N (3,658) (1,843)
B RIE - ke RHE MR RIE (8 m) R 2,894 (1,872)
B E ERIBR D FE - (15,059)
R T B A A = (4,866)
JE Uk B8 3 R B FRIE R A = 1,254
ERBERREEEM (&) 4,317 (3,548)
TE1Z & B K B b JE 45 N 1,825 4,541
FE 1<) B 22 2 B 5RIE R (108) (13,821)
REXBRFRE 40,179 41,134
2 FLE 6 245 12
EENEESS 8 (199) (23)
MEROHBESZF B2 H 8 (2) (5)
B EH (10,832) (8,070)
REXB 2R m AN EE 29,391 33,048

43



BERSHERE

HE_ZTAF=A=1T—HILFE

—EERF —EETNE
B &+ T8 T T& T

REZTH2HERE
ANEBTEEE 14 (24,620) (16,012)
HEBEEEEMSHKE 123 121
N AE 15 (784) (817)
WEEIE B B E 2R (1,226) (111)
BIH & =@ A 2 T HF K%L — (3,900)
s B2 B 8 R A 28(b) (2,344) -
KREE 2R R FR (28,851) (20,719)

METB2RHERE
BT M Z B AR Z KA 2 -
FiEETEREER 887 —
HERITEX 8,000 3,000
EHERIFTER (4,959) (1,055)
EERRiE: 28(a) (20,208) —
EENIE N R (5,260) =
BMEROEE 2 ERNIH (42) (59)
BMEEBZRERAA CRt) F58 (21,580) 1,886
BERERBREEE 2 mM CAL) (21,040) 14,215
FYlzHekERIEEIEHB 46,725 32,510
EXRBE) y R 347 —
FRZEERERRELEE 26,032 46,725

REeRERRESEEEHRON

Be RIBTTHERF 21 26,518 46,776
RITEX 24 (486) (51)
26,032 46,725
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